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Direction (1 - 5) : Study the following information

carefully and answer the questions given below:

funsZ'k (1&5) % nh xbZ lwpuk dk vè;;u è;kuiwoZd djds fn;s x;s
iz'uks ds mÙkj nhft,A

There are seven students - P, Q, R, S, T, V and W in a

class. Each of them has a different favourite subject, viz

Science, Chemistry, Biology, French, English, Mathematics

and Hindi. Each of the student secured different marks in his

favourite subject. R has secured second highest marks and

neither Science nor French is his favourite subject T secured

the least marks and neither Mathematics nor Chemistry is

his favourite subject. The favourite subject of S is Biology and

he secured more marks than marks of Q and W but less than

the marks of P. The favourite subject of Q is English and his

marksis more than the marks of T but less than the marks

of W.

,d d{kk ds lkr fo|kFkhZ P, Q, R, S, T, V rFkk  W gSA izR;sd dk
ilanhnk fo"k; vyx&vyx uker% foKku] jlk;u foKku] tho foKku] ÚSap]
vaxzsth] xf.kr rFkk fgUnh gSA izR;sd fo|kFkhZ vius ilanhnk fo"k; esa vyx&vyx
vad izkIr djrk gSA R us nwljs lcls vf/dre vad izkIr fd;s rFkk mldk
ilanhnk fo"k; u rks foKku gS vkSj u gh ÚSap gSA T us lcls U;wure vad izkIr
fd;s rFkk mldk ilanhnk fo"k; u rks xf.kr gS vkSj u gh jlk;u foKku gSA S dk
ilanhnk fo"k; tho foKku gS rFkk mlus Q rFkk W ls vf/d ijUrq P ls de
vad izkIr fd;sA Q dk ilanhnk fo"k; vaxzsth gS rFkk mlds vad] T ds vadks ls
vf/d gS ijUrq W ds vadks ls de gSA

The favourite subject of P is Hindi and he has not secured

the highest marks. The student whose favourite subject is

French, got the highest marks. The favourite subject of R is

not Chemistry.

P dk ilanhnk fo"k; fgUnh gS rFkk mlus lokZf/d vad izkIr ugha fd;sA
og fo|kFkhZ ftldk ilanhnk fo"k; ÚSap gS] lokZf/d vad izkIr djrk gSA R dk
ilanhnk fo"k; jlk;u foKku ugha gSA
1. Which is the favourite subject of T?

T dk ilanhnk fo"k; dkSu&lk gS\

(a) Chemistry/jlk;u foKku

(b) Science/foKku

(c) English/vaxzsth

(d) Data inadequate/MkVk vi;kZIr gS

(e) None of these/buesa ls dksbZ ugha
2. What is the favourite subject of W?

W dk ilanhnk fo"k; D;k gS\

(a) Chemistry/jlk;u foKku

(b) Mathematics/xf.kr

(c) Either Chemistry or Mathe-matics/jlk;u foKku ;k xf.kr

(d) Data inadequate/MkVk vi;kZIr gSA

(e) None of these/buesa ls dksbZ ugha

PUZZLE

3. Who got the second lowest marks?

nwljs lcls U;wure vad fdldks izkIr gq,\
(a) W (b) S

(c) R

(d) Data inadequate/MkVk vi;kZIr
(e) None of these/buesa ls dksbZ ugha

4. French is the favourite subject of

ÚSap ilanhnk fo"k; gS&
(a) R (b) P

(c)  W (d) V

(e)  None of these/buesa ls dksbZ ugha
5. When all the seven students are arranged according to

their marks in their favourite subjects in descending
order, what is the position of P from the top?

tc lHkh lkr fo|kFkhZ dks muds vadks ds vuqlkj vojksgh Øe esa O;ofLFkr
fd;k tkrk gSA rks P dk mQij ls dkSu&lk LFkku gS\
(a) Second/nwljk
(b) Fourth/pkSFkk
(c) Third/rhljk
(d) Data inadequate/MkVk vi;kZIr
(e) None of these/buesa ls dksbZ ughaA

Direction (6 - 10) : Study the following information
carefully and answer the questions given below:

funsZ'k (6&10)% nh xbZ lwpuk dk vè;;u è;kuiwoZd dhft, rFkk
uhps fn;s x;s iz'uksa ds mÙkj nhft,A

P, Q, R, S, T, V and W are seven members in a family,
out of which there are three females and four males. There
are two managers, two lawyers, one teacher, one engineer
and one doctor. No lady is either teacher or engineer. R is a
lawyer and is married to P, who is a teacher. V, the engineer,
is married to S, who is neither lawyer nor doctor. No two
ladies have the same profession, Q is the sister of W, who is
a manager.

P, Q, R, S, T, V rFkk W ,d ifjokj ds lkr lnL; gS bues esa ls 3
efgyk rFkk 4 iq:"k gSaA ftuesa ls nks izcU/d] nks odhy] ,d f'k{kd] ,d
vfHk;ark rFkk ,d fpfdRld gSA dksbZ Hkh efgyk f'k{kd ;k vfHk;ark ugha gSA
R ,d odhy gS rFkk R, P ls fookfgr gS tks ,d f'k{kd gSA V vfHk;ark] S
ls fookfgr gS tks u rks odhy gS vkSj u gh fpfdRld gaSA fdlh Hkh nks efgykvksa
dk O;olk; ,d leku ugha gSA Q, W dh cgu gS tks ,d izca/d gSA
6. What is T's profession?

T dk O;olk; D;k gS\
(a) Manager/izca/d
(b) Lawyer/odhy
(c) Manager or Lawyer

izca/d ;k odhy
(d) Data inadequate/MkVk vi;kZIr
(e) None of these/buesa ls dksbZ ugh
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7. Which of the following is the group of males?

buesa ls dkSu&lk iq:"kksa dk lewg gSA
(a) PQVW (b) TVSW

(c)  PRTV (d) PTVW

(e)  None of these/buesa ls dksbZ ugh
8. What is Q's profession?

Q dk O;olk; D;k gSA
(a) Doctor/fpfdRld

(b) Manager/izcU/d

(c) Lawyer/odhy

(d) Data inadequate/MkVk vi;kZIr

(e) None of these/buesa ls dksbZ ugh
9. Who among them has the same profession as that of

W?

buesa ls fdldk O;olk; W ds O;olk; ds leku gS\
(a) R (b) T

(c) S

(d) Data inadequate/MkVk vi;kZIr

(e) None of these/buesa ls dksbZ ugh
10. Which of the following pairs have the same profession?

fuEufyf[kr ;qXeksa esa ls fdl ;qXe dk O;olk; leku gS\
(a) PS (b) RS

(c)  TP (d) WT

(e)  None of these/buesa ls dksbZ ugha
11. P and Q like to drink coffee and tea. R and S like coffee

and energy drink. Q and S like tea and cold drink. R, S
and T like energy drink and ice-tea. Who among the
following likes only three drinks, viz., coffee, tea, and
cold drink?

P vkSj Q dks dkWiQh vkSj pk; ihuk ilan gSA R vkSj S dks dkWiQh
vkSj ,uthZ fMªad ilan gSA Q vkSj S dks pk; vkSj dksYM fMªad
ilan gSA R, S vkSj T dks ,uthZ fMªad vkSj vkbl&Vh ilan gSA
fuEufyf[kr esa ls dkSu dsoy rhu is; ilan djrk gS] tSls] dkWiQh]
pk; vkSj dksYM fMªad\

NTPC CBT-2, 17/06/2022 (Shift-2)

(a) R (b) T

(c) Q (d) P

12. A tourist group plans to visit six places A, B, C, D, E and
F on different days of the same week (starting on Monday
and ending on Saturday) during their tour. They visited
place D on Monday. They visited only one place between
visiting place B and place D. They visited neither place
F the immediate next day of visiting place C. they neither
visited place C nor place A on Thursday. On which day
did they visit place E?

,d i;ZVd lewg viuh ;k=kk ds nkSjku Ng LFkkuksa A, B, C, D, E,

vkSj F dks ,d gh lIrkg ds vyx&vyx fnuksa (lkseokj ls 'kq:
gksdj 'kfuokj dks lekIr) ij tkus dh ;kstuk cuk jgk gSA mUgksaus
lkseokj dks LFkku D dk Hkze.k fd;kA mUgksuas LFkku B vkSj LFkku D
dk Hkze.k djus ds chp dsoy ,d LFkku dk Hkze.k fd;kA mUgksus
LFkku C dk Hkze.k djus ds Bhd vxys fnu LFkku F dk Hkze.k
fd;kA mUgksusa xq:okj dks u rks LFkku C dk vkSj u gh LFkku A dk
Hkze.k fd;kA mUgksus fdl fnu LFkku E dk Hkze.k fd;k\

NTPC CBT-2, 15/06/2022 (Shift-2)

(a) Friday ('kqØokj) (b) Saturday ('kfuokj)

(c) Thursday o`gLifrokj) (d) Tuesday (eaxyokj)

13. Five friends, Purva, Roshan, Vibhor, Luna and Anuj,
are wearing five different colured T-shirts, red, black,
purple, yellow and blue. Each of the friends is allergic to
one of the following: nuts, dairy, cats, fish and dust,
such that no two has the same allergy. Luna is allergic
to cats but is not wearing a purple T-shirt. The one
wearing a yellow T – shirt has dust allergy. Purva is
wearing a black t-shirt but is not allergic to dairy of fish.
Vibhor is wearing a purple T-shirt but does not have
fish allergy. Luna is wearing a blue T-shirt. Roshan is
wearing a red T – shirt. Who is allergic to dust?

ikWp fe=k & iwokZ] jks'ku] foHkksj] ywuk vkSj vuqt] yky] dkyk] cSaxuh]
ihyk vkSj uhyk uked ikap vyx&vyx jaxksa eas ls fdlh ,d jax dh
Vh&'kVZ igus gSaa izR;sd fe=k dks esoss] nqX/ mRikn] fcYyh] eNyh vkSj
/wy eas ls fdlh ,d ls ,ythZ gS] vkjS fdUgha Hkh nks fe=kksa dks leku
,ythZ ugha gSA ywuk dks fcfYy;ksa ls ,ythZ gS] ysfdu mlus cSaxuh jax
dh Vh&'kVZ ugha iguh gSA ihys jax dh Vh&'kVZ igus gq, O;fDr dks
èkwy ls ,ythZ gSA iwokZ us dkys jax dh Vh&'kVZ iguh gS] ysfdu mls
nqX/ mRikn ;k eNyh ls ,ythZ ugha gSA foHkksj us cSxuh jax dh Vh&'kVZ
iguh gS] ysfdu mls eNyh ls ,ythZ ugha gSA ywuk us uhys jax dh
Vh&'kVZ iguh gSA jks'ku us yky jax dh Vh&'kVZ iguh gSA buesa ls fdls
/wy ls ,ythZ gS\

NTPC CBT-2, 17/06/2022 (Shift-3)

(a) Vibhor (b) Purva

(c) Roshan (d) Anuj

14. There are six persons, A, B, C, D, E and F. A, B , C and
F are male and other two are female. The height of A is
5.2 feet, B is 5.7 feet, C is 5.9 feet, D is 5.4 feet, E is 6.0
feet and F is 6.1 feet. Out of these all, A, B, C and E like
sugar, and D and F like salt. Persons who have a height
of more than 5.5 feet wear black, and other wear white.

Who among these is the sugar – loving male who does
NOT wear black?

Ng O;fDr gSa] A, B, C, D, E vkSj F, A, B, C vkSj F iq#"k gSa vkSj
vU; nks efgyk,a gSaA A dh ÅapkbZ 5-2 iQhV] B dh 5-7 iQhV] C dh 5-9
iQhV] D dh 5-4 iQhV] E dh 6-0 iQhV vkSj F dh 6-1 iQhV gSA bu lHkh
esa ls A, B, C vkSj E dks phuh ilan gS] vkSj D vkSj F dks ued ilan
gSA ftu yksxksa dh yackbZ 5-5 iQhV ls vfèkd gksrh gS] os dkys jax ds vkSj
vU; liQsn jax ds diM+s igurs gSaA
buesa ls dkSu phuh ls I;kj djus okyk iq#"k gS tks dkyk ugha
igurk gS\

NTPC CBT-2, 14/06/2022 (Shift-1)

(a) C (b) A

(c) D (d) B

15. The Academic Staff College organised a refresher course
in six different subjects, only one on each day, from
Monday to Sunday.

,dSMfed LVkWiQ dkWyst us lkseokj ls jfookj rd] Ng vyx&vyx
fo"k;ksa esa iqu'p;kZ ikBÔØe dk vk;kstu fd;k Fkk ftlesa izR;sd fnu
dsoy ,d fo"k; 'kkfey fd;k x;k FkkA
(i) One of the days was a holiday./,d fnu NqV~Vh FkhA
(ii) Psychology was on the previous day of the holiday.

euksfoKku dk vk;kstu] NqV~Vh ds fiNys fnu FkkA
(iii) The course ended with History./ikBÔØe] bfrgkl ds lkFk

lekIr gqvk Fkk\
(iv) Economics, which was taken up on Wednesday, was

on the previous day of Physics.

vFkZ'kkL=k] ftldk vk;kstu cqèkokj dks gqvk Fkk] HkkSfrdh ds fiNys fnu FkkA
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(v) Psychology and Philosophy had a gap of two days.

euksfoKku vkSj n'kZu'kkL=k ds chp nks fnu dk varjky FkkA
(vi) There was gap of one day between Sociology and

Economics and a gap of two days between Sociology
and Physics.

lekt'kkL=k vkSj vFkZ'kkL=k ds chp ,d fnu dk varjky Fkk vkSj
lekt'kkL=k vkSj HkkSfrdh ds chp nks fnuksa dk varjky FkkA

Which day was a holiday?

NqV~Vh fdl fnu Fkh\
(SSC MTS 27/10/2021 SHIFT-1)

(a) Wednesday/cqèkokj

(b) Saturday/'kfuokj

(c) Friday/'kqØokj

(d) Thursday/xq:okj

funsZ'k (16&19)% nh xbZ lwpuk dk vè;;u è;kuiwoZd dhft, rFkk
uhps fn;s x;s iz'uksa ds mÙkj nhft,A

A, B, C, D, E, F and G are seven students in a class.
They are sitting on three benches I, II and III in such way
that there is at least two of them on each bench and there is
at least one girl on each bench. C, a girl student, does not sit
with A, E and D, F a boy student, sits with only B, A sits on
the Bench I with his best friend on bench I, G sits on bench
III. E is brother of C.

A, B, C, D, E, F rFkk G ,d d{kk esa lkr fo|kFkhZ gaS os rhu csapks ij
bl izdkj cSBrs gSa fd de ls de nks fo|kFkhZ ,d csap ij rFkk izR;sd csap ij
,d Nk=kk cSBsA C ,d Nk=kk A, E rFkk D ds lkFk ugh cSBrh gSA F ,d Nk=k
dsoy B ds lkFk cSBrk gSA A vius lcls fiz; fe=k ds lkFk csap I ij cSBrk
gSA G cSap III ij cSBrk gSA E, C dk HkkbZ gSA
16. How many girl students are there?

buesa fdruh Nk=kk, gS\
(a) 3

(b) 4

(c) 3 or/;k 4

(d) Data inadequate/MkVk vi;kZIr

(e) None of these/buesa ls dksbZ ugh
17. Who sits with C?

C ds lkFk dkSu cSBrk gSA
(a) B (b) G

(c) D (d) E

(e) None of these/buesa ls dksbZ ugh
18. Which of the following is a group of girls?

fuEufyf[kr esa ls yM+fd;ksa dk lewg dkSu&lk gS\
(a) BAC (b) BFC

(c)  CDF (d) BCD

(e)  None of these/buesa ls dksbZ ugh
19. On which bench do three students sit?

rhu fo|kFkhZ dkSu&lh csap ij cSBrs gSA
(a) II (b) III

(c)  I (d) I or/;k II

(e)  None of these/buesa ls dksbZ ugha
20. The Coordinator of an Inter-national Virtual Conference

has planned six guest lectures on different areas –
Cryptography, Fluid Dynamics, Big Data Analysis,
Wavelet Theory, Differential Equations and Linear
Algebra—to be organised only one on each day from
Monday to Sunday.

Wavelet Theory should be organised immediately after
Differential Equations.

Big Data Analysis should be organised on Wednesday
and should not be followed by Linear Algebra.

Fluid Dynamics should be organised on Friday and there
should be a gap of two days between Cryptography and
Linear Algebra.

One day there will be no lecture (Saturday is not that
day), and just before that day

Linear Algebra will be organised.

How many lectures are organised between Big Data
Analysis and Wavelet Theory?

fdlh varjkZ"Vªh; vkHkklh lEesyu dk leUo;d] fØIVksxzkiQh] ÝywM
Mk;usfeDl] fcx MsVk ,ukfyfll] osoysV F;ksjh] fMiQjsaf'k;y bDos'ku vkSj
yhfu;j vytsczk tSls fofHkUu {ks=kksa ij N% vfrfFk;ksa ds O;k[;ku dh
;kstuk cukrk gS] ftlesa lkseokj ls jfookj rd izR;sd fnu dsoy ,d
O;k[;ku dk vk;kstu fd;k tkuk gSA

osoysV F;ksjh dk vk;kstu fMiQjsaf'k;y bDos'ku ds rqjar ckn gksuk pkfg,A

fcx MsVk ,ukfyfll dk vk;kstu cqèkokj dks djuk gS ftls yhfu;j
vytsczk ds ckn ugha gksuk pkfg,A

ÝywM Mk;ukfeDl dk vk;kstu 'kqØokj dks djuk gS rFkk fØIVksxzkiQh vkSj
yhfu;j vytsczk ds chp nks fnuksa dk varjky gksuk pkfg,A

,d fnu dksbZ O;k[;ku ugha gksxk ('kfuokj og fnu ugha gS) vkSj ml fnu
ls Bhd igys yhfu;j vytsczk dk vk;kstu gksxkA

fcx MsVk ,ukfyfll vkSj osoysV F;ksjh ds chp fdrus O;k[;kuksa dk
vk;kstu gksxk\

(SSC MTS, 12/10/2021 Shift-2)

(a) Three/rhu (b) One/,d

(c) Four/pkj (d) Two/nks
21. five clothes, sweater, jacket, coat, gloves and trousers,

are made of different fabrics, wooll, fur, velvet, flannel
and taffeta, but not necessarily in the same order. Also,
each has a different colour, red, orange, black, white
and yellow, but not necessarily in the same order.

ikap diM+s] LosVj] tSdsV] dksV] nLrkus vkSj irywu] vyx&vyx
diM+s & Åu] iQj] e[key] iQykySu vkSj riQrk ls cus gSa] ysfdu
mudk blh Øe esa gksuk  vfuok;Z ugha gSA blds vykok] izR;sd
dk jax vyx&vyx & yky] ukajxh] dkyk] lisQn vkSj ihyk gS]
ysfdu mudk blh Øe eas gksuk vfuok;Z ugha gaSA
The jacket and trousers are not made of velvet. The

sweater is orange in colour. The coat is made of fur
but is not black or red in colour. The gloves are yellow
in colour but are not made of flannel or taffeta. The
orange coloured item is made of wool. The jacket is
made of Flannel and is neither black nor white in
colour. The trouser is not white in colour. Which item
is made of velvet?

tSdsV vkSj irywu e[key ls ugha cus gSaA LosVj ukjaxh jax dk gSA
dksV iQj ls cuk gS ysfdu dkys ;k yky jax dk ugha gSA nLrkus
ihys jax ds gSa ysfdu ;s iQykySu ;k riQrk ls ugha cus gSaA ukjaxh
jax ds oLrq Åu ls cus gSA tSdsV iQykySu ls cuk gS vkSj ;g u
rks dkys vkSj u gh lisQn jax dk gSA irywu dk jax lisQn ugha gSA
buesa ls dkSu lk oL=k e[key ls cuk gS\

NTPC CBT-2, 17/06/2022 (Shift-1)

(a) Trousers (b) Sweater

(c) Coat (d) Gloves
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22. Seven people A, B, C, D, E, F and G live in a seven –

floor building. The lowermost floor is numbered as 1, th

floor above it is numbered 2, and so on till the topmost

floor is numbered 7. Only four people live below the floor

on which D lives. Only two people live below C. B lives

on the lowermost floor. E lives immediately above B. A

lives on one of the floors above F but on one of the floors

below G. Who lives on the floor numbered 4?

lkr O;fDr A, B, C, D, E, F vkSj G ,d lkr eaftyk bekjr esa
jgrs gSaA lcls fupyh eafty dh la[;k 1 gS] blds Åij dh
eafty dh la[;k 2 gS] vkSj blh rjg lcls Åijh eafty dh
la[;k 7 gSA dsoy pkj O;fDr ml eafty ds uhps jgrs gSa ftl ij
D jgrk gSA C ds uhps dsoy nks O;fDr jgrs gSaA B lcls fupyh
eafty ij jgrk gSA E, B ds Bhd Åij jgrk gSA A, F ds Åij
fdlh ,d eafty ij jgrk gS ysfdu G ds uhps fdlh ,d eafty
ij jgrk gSA eafty la[;k 4 ij dkSu jgrk gS\

NTPC CBT-2, 15/06/2022 (Shift-1)

(a) C (b) D

(c) F (d) A

23. In a year end examination, 6 papers- Maths, Physics,

Geog-raphy, Economics, Chemistry, History are

scheduled on 6 consecutive days of a week (Monday -

Saturday)

okf"kZd ijh{kk esa] xf.kr] HkkSfrdh] Hkwxksy] vFkZ'kkL=k] jlk;u foKku]
bfrgkl ds 6 isij] lIrkg ds 6 Øekxr fnu (lkseokj ls 'kfuokj rd)
dks fu/kZfjr fd, tkrs gSaA
1. Maths paper is after the Chemistry paper, with a

1-day gap between them.

xf.kr dk isij jlk;u foKku ds isij ds ckn gS] ftlesa muds chp
1 fnu dk varjky gSA

2. Physics paper is on Monday.

HkkSfrdh dk isij lkseokj dks gSA
3. Geography paper is not on the last day.

Hkwxksy dk isij vkf•jh fnu ugha gSA
4. History paper, which is scheduled on the previous

day of the Maths paper, has a two-day gap with the

Physics paper.

bfrgkl dk isij] tks xf.kr ds isij ds fiNys fnu fu/kZfjr gS] mlds
vkSj HkkSfrdh ds isij ds chp nks fnu dk varjky gSA

Which paper is scheduled on Saturday?

dkSu lk isij] 'kfuokj dks fu/kZfjr fd;k tkrk gS\
(SSC MTS, 02/11/2021 Shift-2)

(a) Chemistry/jlk;u foKku

(b) Economics/vFkZ'kkL=k

(c) History/bfrgkl

(d) Maths/xf.kr

24. Among A, B, C, D, E and F, only one person likes the
colur Black, among them, only two study in class 12th,
while the rest study in class 10th. Only C is in the same
class as F. D likes the colour Pink. None of those studying
in 12th like the colour Black. Neither A nor E likes the
colour Black. Who among them likes the colour Black?

A, B, C, D, E vkSj F esa ls dsoy ,d O;fDr dks dkyk jax ilan gS]
muesa ls dsoy nks d{kk 12 oha eas i<+rs gSa] tcfd ckdh d{kk 10 oha esa
i<+rs gaSA dsoy C, F ds leku d{kk esa gSA D dks xqykch jax ilan gSA
12oha esa i<+us okyksa esa ls fdlh dks Hkh dkyk jax ilan ugha gSA u rks A

vkSj u gh E dks dkyk jax ilan gSA muesa ls dkSu dkyk jax ilan djrk gS\
NTPC CBT-2, 16/06/2022 (Shift-3)

(a) B (b) F

(c) C (d) A

25. In a year-end examination, 6 papers-Maths, Physics,
Geog-raphy, Economics, Chemistry, History- are
scheduled on 6 consecutive days of a week (Monday -
Saturday)

okf"kZd ijh{kk esa] xf.kr] HkkSfrdh] Hkwxksy] vFkZ'kkL=k] jlk;u foKku]
bfrgkl ds 6 isij] lIrkg ds 6 Øekxr fnu (lkseokj ls 'kfuokj rd)
dks fu/kZfjr fd, tkrs gSaA
1. Maths paper is after the Chemistry paper, with a 1-

day gap between them.

xf.kr dk isij jlk;u foKku ds isij ds ckn gS] ftlesa muds chp
1 fnu dk varjky gSA

2. Physics paper is on Monday.

HkkSfrdh dk isij lkseokj dks gSA
3. Geography paper is not on the last day.

Hkwxksy dk isij vkf•jh fnu ugha gSA
4. History paper, which is scheduled on the previous

day of the Maths paper, has a two-day gap with the
Physics paper.

bfrgkl dk isij] tks xf.kr ds isij ds fiNys fnu fu/kZfjr gS] mlds
vkSj HkkSfrdh ds isij ds chp nks fnu dk varjky gSA

In the above description, the History paper was cancelled
due to incompletion of syllabus and the exam was
scheduled for five days (Monday - Friday), with the order
of the papers reversed.

Which paper was scheduled on Thursday?

mi;ZqÙkQ fooj.k esa] bfrgkl dk isij] ikBÔØe viw.kZ gksus ds dkj.k jí dj
fn;k tkrk gS vkSj ijh{kk ikap fnu (lkseokj ls 'kqØokj rd) ds fy, fu/
kZfjr dh tkrh gS] ftlds lkFk isij dk Øe Hkh myV tkrk gSA
dkSu lk isij] xq#okj dks fu/kZfjr fd;k tkrk gS\

(SSC MTS 02/11/2021 SHIFT-2)

(a) Physics/HkkSfrdh
(b) Geography/Hkwxksy
(c) Maths/xf.kr
(d) Chemistry/jlk;u foKku

Answer-Key

1. (e) 2. (a) 3. (e) 4. (e) 5. (e) 6. (b) 7. (d) 8. (a) 9. (c) 10. (e)

11. (a) 12. (c) 13. (d) 14. (b) 15. (b) 16. (c) 17. (b) 18. (d) 19. (c) 20. (a)

21. (d) 22. (c) 23. (b) 24. (a) 25. (a)
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Answer With Explanation

Solution:- (1-5)

Subject Student

Science V

Math R

Hindi P

Biology S

Chemistry W

English Q

French T

1. (e) T dk fiz; subject french gSA

2. (a) W dk favorite subject chaem-istry gSA

3. (e) nwljs lcls lowest marks Q ds gSaA

4. (e) French, T dk favorite subject gSA

5. (e) P dk Åij ls 5th LFkku gksxkA
Solution:- (6-10)

Persons Professions

P+ Teacher

Q– Doctor

R
–

Lawyer

S– Manager

T
+

Lawyer

V+ Engineer

W
+

Manager

6. (b) T = Lawyer

7. (d) Group of Males = PTVW

8. (a) Q = Doctor

9. (c) W and S are same profession manager.

10. (e) Same profession RS, WS.

11. (c)

Drinks Persons

Coffee P, Q, R, S

Tea P, Q, S

Energy Drink R, S, T

Cold Drink Q, S

Ice Tea R, S, T

dsoy rhu drinks dks ilan djus okyk Q gSA
12. (c)

Thursday dks mUgksaus E dk Hkze.k fd;kA

13. (d)
Name T- Shirt 

Colour
Allergy Not 

Applicable

Purva Balck Nuts Dairy, Fish

Roshan Red Fish

Vibhor Purple Dairy Fish

Luna Blue Cats Purple

Anuj Yellow Dust

Anuj dks Dust ls Allergy gSA

14. (b)
Person Gender Height Sugar/Salt Colour

F Male 6.1 Salt Black

E Female 6.0 Sugar Black

C Male 5.9 Sugar Black

B Male 5.7 Sugar Black

D Female 5.4 Salt White

A Male 5.2 Sugar White

A, sugar dks ilan djrk gS ysfdu black cloth ugha igurk gSA

15. (b) Saturday

Day

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Sunday

Subject

Sociology

Philosophy

Economics

Physics

Psychology

----

History

Solution:- (16-19)

Bench Students

I A, E , D+

II F , B+ –

III G, C
–

16. (c) 3 or 4

17. (b) G, C ds lkFk
18. (d) BCD

19. (c) rhu students I bench ij cSBrs gSaA

20. (a) Three
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Day

Mon.

Tue.

Wed.

Thu.

Fri.

Sat.

Sun.

Subject

Big data analysis

Keto graphics

Fluid diary names

Differential equation

Wavelet theory

Linear algebra

------

21. (d)
Clothes Fabric Colour Not Applicable

Sweater Wool Orange

Jacket Flannel Red Velvet, Black, 
White

Coat Fur White Black, Red

Gloves Velvet Yellow Flannel, Taffeta

Trousers Taffeta Black Velvet, White

Gloves, Velvet ls cuk vkSj Yellow jax dk gSA

22. (c)

7th

6th

5th

3
th

2
nd

1st

G

A

D

C

E

B

4th floor ij ‘F’ jgrk gSA

23. (b) Economics

Day

Monday

Tuesday

Wednesday

Thursday

Friday

Saturday

Subject

Physics

Geography

Chemistry

History

Math

Economics

24. (a)

A

E
D
C
F

Pink

'B' dks Black Colour ilan gSA

25. (d) Chemistry

Day

Mon.

Tue.

Wed.

Thu.

Fri.

Sat.

Subject Reverse 
Order

Physics

Physics

Geography

Geography

Chemistry

ChemistryHistory

History

Math

Math

Economics

Economics


